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@ x*(a-b)-y*(b-a) = (a=b)(x+y)(x-y)
© 9x% + 3xy -2y = (3x—2y)(3x +y)
© x3-125=(x-5)(x* = 5x + 25)

@ 2x? —xy-y —dx+y+2=(2x-y+2)(x-y+1)

@ o7H @ 174 ® 274 @ 374 (@)47ﬂ

B

@ x*(a~b) - y*(b-a) = x*(a~b)+y*(a~b) = (a~b)(¥*+y?)
© 9x% + 3xy — 2y? = (3x + 2y)(3x —y)
© x* - 125 = (x - 5)(x? + 5x + 25)
@22 —xy—y?—4dx+y+2
=2~ (4+y)x-(?-y-2)
=2 - (4+y)x-(-2)(+1)
:{2x+(y—2)}{x—(y—|—1)}
=@2x+y-2)(x-y-1)




2.

o34 ax + ay — bx — by & 155l oFHA?

@® x(a-b) @ (a-b)(x-y) @ (a+b)(x-

@ a-b)x+y) O (a+b)(x+y)

y)

ax+ay—bx—by =a(x+y) —b(x+y)
=(a-b)(x+y)
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(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




4. (1252 = 75%) = {5+ (30 = 50) = (-4)} ] g-2?

@® 75 @ 125 ® 900 @1000 ® 1225

B

1252 — 752 = (125 + 75)(125 — 75)
= 200 x 50 = 10000

20
5+ (30-50) + (~4) = 5+ = =10

(¥ 41)= 10000 + 10 = 1000




4232 +9=(®+ax+b)(x*+cx+d) 2 JAFESNED O, |ab - cd|
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@ 170 @3711 @5 @7 ©9A

V7t 847k e x= -2, -85, - 2 37l




A kol Hishe] A 7 = 3(k + 2i) — k(1 - i) &) grol =857t
HE5 ko g Agshi?

O -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(—2i)
= 3k + (6 + 2k)i = &=d|F
L 3k=0,k=0
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@ 5 @ 10 ® 15

a(l+i) b(l-i
2 + (2 :

a(l+1i)+b(1-1i) =10,

(a+b)+ (a—b)i=10

a+b=10,a-b=0

2a =10, a=5,b=0>5,ab =25

=5




9. (V3-i)2x(VI2+2i)? & 7hds] ot (dhi= V-1)

(FA) = (V3-i)? x (2V3 + 2i)?
:22x{(«/§—i)(«/§+i)}2

=22x4% =22 x21 =26
=64




10. sl iol ot i+ + 3 +i* +i° +i°

® 1+ ()—LH
® 2

@ 2+i

i+ +B3 4+t +®+4¢
=i+ (1) + (=) +1+i+(-1)
=-1+i




